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1.1f A and B together can complete a piece of work in 15 days and B alone in 20 days, in
how many days can A alone complete the work?

qfe A 3R B firaes fdt &1l &Y 15 fa1 o a1 B 3rdbat 20 f&i & qRT e O §,
al A 3bd 39 BT B fha- el & 1w~ Idpar g
A.60

B.45

C.40

D.30

Answer: Option A

Solution:1st method:

A and B complete a work in = 15 days

One day's work of (A + B) = 1/15

B complete the work in = 20 days;

One day's work of B = 1/20

Then, A's one day's work =1/15-1/20

=4-3/6

=1/60

Thus, A can complete the work in = 60 days.

2nd method:

(A + B)'s one day's % work =100/15

= 6.66%

B's one day's % work =100/20

= 5%

A's one day's % work =6.66 - 5 = 1.66%

Thus, A need =100/1.66

= 60 days to complete the work.

2. If A and B together can complete a work in 18 days, A and C together in 12 days, and
B and C together in 9 days, then B alone can do the work in:

gfe A 3R B fira® U 19 i 18 f& # qRT 3R Iohd &, A 3R C Tw 91y 12 f&=it
H, 3R B 3k C U A1y 9 fei #f RT3 ghd & 1 B 3/dbel 39 &1 &I fpa fe
H R HR BT 3
A. 18 days
B. 24 days
C. 30 days
D. 40 days
Answer: Option B
Solution: One day's work of (A+B) =1/18......(1)
One day's work of (A+C) =1/12.......(2)
One day's work of (B+C)=1/9.......(3)
Adding (1), (2) and(3)
2% (A+B+C) =1/18+1/12+1/9
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2(A+B+C) =1/4

One day's work of

A+B+C=1/8

B=1/8— (A+C)

B=1/8-1/12

One day's work of B=3-2/24

=1/24

Bneed24days

3. A and B together can complete a work in 3 days. They start together but after 2 days,
B left the work. If the work is completed after two more days, B alone could do the
work in

A 3i¥ B firae te o1l ot 3 a1 & qRT % Hohd &1 3 T A1 Y= Hd § qAfh 2
fet & a1g, B 7 o B faaT| afe o gt fa= a1g IR1 8 it 3, °f 91 &1l
IHdl g

A. 5 days

B. 6 days

C. 9 days

D. 10 days

Answer: Option B

Solution:1st Method:

(A+B)'s one day's work =1/3 part

(A+B) works 2 days together =2/3part

Remaining work =1-2/3

=1/3 part

1/3 part of work is completed by A in two days
Hence, one day's work of A =1/6

Then, one day's work of B=1/3—1/6

=1/6

So, B alone can complete the whole work in 6 days.
2nd Method:

(A+B)'s one day's % work =100/3

=33.3%

Work completed in 2 days = 66.6%

Remaining work = 33.4%

One day's % work of A =33.4/2

=16.7%

One day's work of B=33.4 - 16.7 = 16.7%

B alone can complete the work in,

=100/16.7

= 5.98 days

~ 6 days.
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4.A can complete a piece of work in 18 days, B in 20 days and C in 30 days, B and C
together start the work and forced to leave after 2 days. The time taken by A alone to
complete the remaining work is

ATH FH P 18 e A T aPar g, B 20 fRRAT A sk c 30 i &, B iR c T
1Y HTH YF B 8 AR 2 &l & 91 Bl & fIe oy 71d €1 A9 &1d B g1
B | A GRT 3bd forar T vy g

A. 10 days

B. 12 days

C. 15 days

D. 16 days

Answer: Option C

Solution:1st Method

(B+C)2 days work

=2x%(1/20+1/30)=2x3+2/60

=1/6part

Remaining work=1—1/6=5/6 part

A's one day's work=1/18 part

Time taken to complete the work=5/6/1/18days

Hence, Time taken to complete the work=5/6x18=15days

2nd Method:

% of work B completes in one day =100/20

= 5%;

% of work C completes in one day =100/30

= 3.33%;

% of work (A + B) completes together in one day =5 + 3.33 = 8.33%j;

% work (A + B) completes together in 2 days = 8.66 x 2 = 16.66%;

Remaining work = 100 - 16.66 = 83.34%;

% of work A completes in 1 day =100/18

=5.55%

Time taken to complete the remaining work by A

=83.34/5.55

= 15 days

5.Working 5 hours a day, A can Complete a work in 8 days and working 6 hours a day,
B can complete the same work in 10 days. Working 8 hours a day, they can jointly
complete the work in:

Hfafe 5 5 &1 Hdb, A Th 1 3t 8 f&1 T [T H- a1 g ok ufafe16 6
&1 Hdb, B I B B 10 fa1 ' 1 H gFar 3| ufafe 8 we o1d Fp, 9
YT ¥ A B Bl foa- T0a T qRT L Ghd &
A. 3 days
B. 4 days
C. 4.5 days
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D. 5.4 days

Answer: Option A

Solution:1st Method:

Working 5 hours a day, A can complete the work in 8 days i.e.

=5 x 8 =40 hours

Working 6 hours a day, B can complete the work in 10 days i.e.

=6 x 10 =60 hours

(A + B)'s 1 hour's work,

=1/40+1/60

=3+2/120

=5/120

=1/24

Hence, A and B can complete the work in 24 hours i.e. they require 3 days to complete the
work.

2nd Method:

% 1 hour's work of A =100/40

=2.5%

% 1 hour's work of B =100/60

= 1.66%

(A + B) one hour's % work,= (2.5 + 1.66) = 4.16%

Time to complete the work,

=100/4.16

= 24 hours

Then , 24/8

= 3 days

They need 3 days, working 8 hours a day to.complete the work.

6. Ganga and Saraswati, working separately can mow field in 8 and 12 hours
respectively. If they work in stretches of one hour alternately. Ganga is beginning at 9
a.m., when will the moving be completed?

T 3R AR S-S HTH HYd §U PUR: 8 3MR 12 U H W B I APl
21 9f¢ 3 IR-aRY A TP U B 3af H H1H B 1 JI§ 9 T Y= 8 ¥gT ¢ T
BT I, $d NI TRI?

A. 6:20 PM

B. 6:30 PM

C.6:36 PM

D. 6:42 PM

Answer: Option B

Solution:Time and Work mcq solution image

According to question,

Ganga begins at 9 am and she does 3 units/hours

Saraswati begins at 10 am and she does 2 units/hours

Study-Knight Coaching Centre Sunder-Nagar Himachal Pradesh 7807922400 / 98170-34333
Search Us on YouTube Study Knight or Visit Our Website: - http://www.StudyKnight.in
Study Knight YouTube 40k Family




Study-Knight Research Centre Himachal Pradesh

So by 11 am they complete 5 units

Time =T.W./3+2

=24/5

(4 cycle of 2 hrs each + 4 units left)

And now ganga will complete 3 unit out of 4 units in 1 hr
Now, rest 1 unit work done by =1/2hr

Total time =8+ 1 +1/2

=9,1/2hr

Hence, Work finished at

=9am + 9,1/2hr

=6:30 PM

Alternate Solution:

Work done by Ganga in 1 hour =1/8

Work done by Saraswati in 1 hour =1/12

They are working alternatively with Ganga beginning the job.
Work done in every two hours =1/8+1/12

=5/24

Work done in 4 x 2 = 8 hours =5x4/24

=5/6

Remaining work = 1 -5/6

=1/6

In 9th hour, Ganga starts the work and does

1/8 of the work

Work remaining =1/6-1/8

=1/24

In 10th hour, Saraswati starts the work

Time needed to finish the remaining work

=1/24/1/12

=1/24%x12

=0.5 hours

=30 minutes

i.e., work will be completed in 9 hour 30 minutes, after 9 AM
l.e., at 6:30 PM

7. 1 10 men can do a piece of work in 12 days, the time taken by 12 men to do the same
piece of work will be:

gfe 10 STeHI TP HTH &I 12 {31 §f 3 9Fd &, a1 12 et SH s B A |
T 91T g gR:

A. 12 days

B. 10 days

C. 9 days

D. 8 days
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Answer: Option B

Solution:Here, we use work equivalence method;

10x12=12 x X

Or, x = 10 days

To understand the work equivalence method, we use a graphic as follows:

Men Days

10] 12

12 1 x (let)

Here, the two arrows, downward () and upward (1) show variation between men and days.
[If downward arrows show decrements then upward arrows show increments and vice-verse.]
Thus,

10/12=x/12

or, x=10x12/12

=10days

8.To complete a work, A takes 50% more time than B. If together they take 18 days to
complete the work, how much time shall B take to do it?

it &8 B R HA | A B B A 50% Hftd T9a @ran 21 afe 37 frass w1
RTHRA H 18 &7 @1d €, <t B I 380 T HA H foha=11 997 T2

A. 30 days

B. 35 days

C. 40 days

D. 45 days

Answer: Option A

Solution: We have B=3/2xA

—A=23%xB

One day'swork,=»A+B=1/18

=2/3xB+B=1/18

=5/3xB=1/18

One day's work of B=3/90

B alone can complete the work in

=90/3=30days

9. If 10 men or 20 boys can make 260 mats in 20 days, then how many mats will be
made by 8 men and 4 boys in 20 days?

gfe 10 SATEHY AT 20 TSP 20 &1 | 260 TSTS T AD &, A1 8 3T 3R 4 TSH 20
f&a1 o fpat IeTs IR

A. 260

B. 240

C. 280

D. 520

Answer: Option A

Solution:10 men = 20 boys
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—1 men = 2 boys

8 men = 2 x 8 boys = 16 boys

Then,

(16 boys + 4 boys) = 20 boys can make 260 mats in 20 days

Now,

It can be calculated by work equivalence method:

20 x 260 x 20 =x x 20 x 20

X = 260 mats

10. A complete 7/10 of a work in 15 days, then he completed the remaining work with
the help of B in 4 days. In how many day A and B can complete entire work together?

A frelt &t &7 7/10 W 15 f&1 ® X1 a1 8, fhe 98 39 &1d B &1 Ggraar 9 4
feii 4 T epvar 81 A 3R B fira®s R1 &1 foba= fel & 1 # 9d &2
A.10,1/2days

B.12,2/3days

C.13,1/3days

D.8,1/4days

Answer: Option C

Solution: 7/10

part of work has been completed by A in 15 days. Then,

Rest work = 1 -7/10

=3/10 part

Given, That 3/10 part of the work is completed by A and B together in 4 days. Means,

(A + B) completed the 3/10 of work in 4 days

So, (A + B)'s 1 day's work =3/10x4

=3/40

Hence,

(A + B) can complete the work in

40/3

=13,1/3days

11. A can complete a piece of work in 36 days, B in 54 days and C in 72 days. All the
three began the work the work together but A left 8 days before the completion of the
work and B 12 days before the completion of work. Only C worked up to the end. In
how many days was the work completed?

ATH FH B 36 eI | Bsafemi A siR c 2 oA A Wi R IPpar g1 A A T
1Y BT IR= fPaT AfPT A AP RIETA A 8 feT tga S femm s B Adm T
M ¥ 12 fa1 ugd ©is fan| ad ¢ 7 3id 9@ &1 far &t fbaq =i @n
3T?
E. 24 days
B. 25 days
C. 27 days
D. 30 days
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Answer: Option A

Solution:Let the work be completed in x days. C work for x days then A works for (x - 8)
days and B works for (x - 12) days.

According to the question,

x—8/36+x—12/54+x/72=1

6x—48+4x—48+3x/216=1

13x—96=216

13x=216+96=312

x=312/13

x=24days

12.While working 7 hour a day, A alone can complete a piece of work in 6 days and B
alone in 8 days. In what time would they complete it together, 8 hour a day?

faT 7 7 ¢ TH H3d T, A 3 6 &1 H 3R B 3rhal 8 a1 #f v ST I AR
TehdT ¢ | Ufafe 8 e, 9 e 39 fovd 9w7a & 1 #?

A. 3 days

B. 4 days

C. 2.1 days

D. 3.6 days

Answer: Option A

Solution:A can complete the work in 7 x 6 = 42 hours

1 hour's work of A =1/42

B can complete the work in 7 x 8 = 56 hours

1 hour's work of B =1/56

(A + B)'s 1 hour's work

=1/42+1/56

=4+3/168

=7/168

=~ Time taken by (A + B) working 8 hours daily

168/7x8=3days

13. Two pipes, P and Q can fill a cistern in 12 and 15 minutes respectively. Both are
opened together, but at the end of 3 minutes, P is turned off. In how many more
minutes will Q fill the cistern?

31Uy, P 3R Q U Th! bl HHTT: 12 3R 15 e § HR Ihd g | S B T 1Y Wiedl
WTaT ®§, dfd 3 e & 3fd |, p & g Srar g1 Q fovdn fie & dapt i

A. 7 minutes

B.7,1/2minutes

C. 8 minutes

D. 8,1/4minutes

Answer: Option D

Solution: P can fill cistern in 12 minutes

P fills cistern in 1 minute =1/12
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Q can fill cistern in 15 minutes

Q fills cistern in 1 minute =1/15part

P and Q together can fill cistern in 1 minute,

=1/12+1/15=9/60 part

So, they can together fill cistern in 3 minute,

=3%9/60=9/20 part

Rest Cistern =1-9/20

=11/20 part

11/20 part cistern must be filled by Q in

11/20/1/15=8,1/4 minutes

Alternatively,

Pipe P can fill cistern in one minute =100/12

=8.33%

Pipe Q can fill cistern in.one minute =100/15

= 6.66%

(P + Q) together can fill the cistern in one minute = 15%;

In 3 minutes cistern is filled = 45%

P become off, then rest of cistern will be filled by Pipe Q in =556.66
=814minutes.

14. Two pipes can fill an empty tank separately in 24 minutes and 40 minutes
respectively and a third pipe can empty 30 gallons of water per minute. If all three pipes
are open, empty tanks become full in one hour. The capacity of the tank (in gallons) is:

<! UTSY U WTelt ¢ b D1 3eT-3eRT shHRT: 24 fiFe v 40 e & R ghd & 3R
T TRRT U3y U fiee 30 e Tt Wrefl 3 Wova ¢ | Afe I urgu ga &, af
@relt ¢fhal T U H 4R Sl 8 | & 9 AT (a ) 8:

A. 800 gallons

B. 600 gallons

C. 500 gallons

D. 400 gallons

Answer: Option B

Solution: Let capacity of the tank = x gallons;

Part of the tank filled in 1 minute

=x/24+x/40—-30 Or, x/24+x/40—30=x/60

Or, x/24+x/40—x/60=30 Or,10x+6x—4x/240=30 Or,12x=30%240 Or ,x=600gallons

15.A cistern can be filled by two pipes in 20 and 30 minutes respectively. Both pipes
being opened, when the first pipe must be turned off so that the cistern may be filled in
10 minutes more.

TP <! Bl gl UTSUI GIRT HHRT: 20 3R 30 e & WRT <1 G&dr g1 i1 urgy @i
ST 38 &, 5I9 UgdT UTSy §¢ forar sHm =anfee aifes <ot 10 firde & W 9|
A. After 10 minutes
B. After 12 minutes
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C. After 20 minutes

D. After 8 minutes

Answer: Option D

Solution:% Cistern is filled by 1st pipe in one minute =100/20

=5%

% Cistern is filled by 2nd pipe in one minute =100/30

=3.33%

% cistern filled by 1st and 2nd pipes in one minute = 8.33%

According to question,

Cistern is totally filled by 2nd pipe in last 10 minute.

That means 2nd pipe filled 33.3% of the cistern inlast 10 minute and 66.66% of cistern is
filled by 1st and 2nd pipe together in =66.668.33

= 8 minutes

Thus, after 8 minute, 1st pipe must be turned off.

16. A tank can be filled with water by two pipes A and B together in 36 minutes. If the
pipe B was stopped after 30 minutes, the tank is filled in 40 minutes. The pipe B can
alone fill the tank in:

TS ¢ DI gl UIgU A 3R B §RT i@ 36 fiide # ur-il & w1 s 9ovar g1 afe
UTSY B &1 30 fAe & 91¢ d¢ &R fear siar 8, 91 & 40 e A R ST 81 UIsu B
AP H Bl UR BT 3

A. 45 minutes

B. 60 minutes

C. 75 minutes

D. 90 minutes

Answer: Option D

Solution:Let the pipes fill the tank in x minutes.

Part of tank filled by pipes A and B in one minute:

136 Part of the tank filled by pipe A in 1 minute =136—1x
According to the question,

30x1/x+40(1/36—1/x)=1=

30/x+40/36—40/x=1

=30/x+10/9—-40/x=1

=10/x=1/9

hence, x= 90 minutes

Alternatively,

% of tank filled by (A+B) in 1 minute =100/36

=2.78%

% of tank filled in 30 minutes = 2.78 x 30 = 83%

That means 17% of tank can be filled by A in last 10 minutes
Then, % tank filled by A in 1 minute =17/10

=1.7%
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% of tank filled by B in 1 minute =2.78 - 1.7 = 1.1%
So, B alone can fill 100% tank in,
=100/1.1
= 90 minutes (approx.)
17. A boy and a girl together fill a cistern with water. The boy pours 4 liters of water
every 3 minutes and girl pours 3 litres every 4 minutes. How much time will it take to
fill 100 litres of water in the cistern?
TP ASHI 3R TP dSdh! fidd: U dbl Bl Ul A A &1 dshT g 3 e # 4
dex Ut STeren & 3R ds@! & 4 firie o 3 dtex i s1aredt 81 @1 | 100 e
=t WA | foa=1r 9w @
A. 36 minute
B. 42 minutes
C. 48 minutes
D. 44 minutes
Answer: Option C
Solution:Water filled by (boy + girl) in one minute,
4/3+3/4=16+9/12
=25/12liter
Hence, time taken to fill 100 liter,
= 100x%12/25=48minute
18. A tank has a leak which would empty the completely filled tank in 10 hours. If the
tank is full of water and a tap is opened which admits 4 litres of water per minutes in
the tank, the leak takes 15 hours to empty the tank. how many litres does the tank hold?
% ¢ # 19 8 ol T aRE ¥ WY §U S 1 10 U W Wreil #e | afe & urht
H HRT §3T 8 3R TF a8 WaT AT § ol ¢ H ufd e 4 efex urt Wi R wear
g, at fRaTa & SR P Bl WAl B F 156 WA € | ¢ | fha eitex ot aman
?
A. 2400 litres
B. 4500 litres
C. 1200 litres
D. 7200 litres
Answer: Option D
Solution:Let the capacity of the tank = g litres
According to the question,
Quantity of water emptied by the leak in 1 hour =10 litres
Qunatity of water filled by the tap in 1 hour = 240 litres
According to the question,
=q/10—q/15=240
=3/q—2q/30=240
=9/30=240
=(0=240%30
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=(0=7200litres

19. A, B and C completed a work costing Rs. 1800. A work for 6 days, B for 4 days and
C for 9 days. If their daily wages are in the ratio of 5 : 6 : 4, how much amount will be
received by A? .

T, &t 3R 3 7 $Ud ) arTa 91ar Ue w1 QRT fHar] 1800. A 6 fa, B A 4 e 3R
C = 9 f&1 &1 fvam| afe S®T1 A da-1 5:6:4 & SUIA | &, 1 A B fha-it afxn
WTe g

A. Rs. 800

B. Rs. 600

C. Rs. 900

D. Rs. 750

Answer: Option B

Solution:Ratio of their daily wages=5:6: 4

Total wage = Rs. 1800

6 x 5x + 4 x 6x + 4 x 9x = 1800 [As A, B, C works for 6, 4, 9 days respectively]

Or, 90x = 1800

Or, x =1800/90

Total amount of A =1800x%30/90

= Rs. 600

20. A man and a boy received Rs. 800 as wages for 5 days for the work they did
together. The man's efficiency in the work was thrice times that of the boy. What are
the daily wages of the boy?

TS JATGH 3R TH ASD B &1 S5 T 1Y il H1H fovan 39 forg 58 5 feAi
D1 Holgl 800 ¥ el | HTH H 3 MTGHI 3 G&rar dsd A i AT 3ifere |

TSP B Sfe Horgdl fpai 22

A.Rs. 76

B. Rs. 56

C.Rs. 44

D. Rs. 40

Answer: Option D

Solution: Man = 3 boy

Daily wages for them =800/5

=160

4 boy (1 man + 1 boy) = 160

4 boy = 160

Or, boy = Rs. 40

21. Subhash can copy 50 pages in 10 hours; Subhash and Prakash together can copy
300 pages in 40 hours. In how much time can Prakash copy 30 pages ?

FHTY 10 e | 50 UST HIU B Thd §; GHUTY 3R UHTRT fAraev 40 6 T 300 9w
P4l B TPbd g | TBT fda a0y & 30 U B4 B Hdl g2
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A. 13 hour

B. 12 hour

C. 11 hour

D. 9 hour

Answer: Option B

Solution : Number of page copied by ( Subhash + Prakash) in 1 hour =

300/40

= 7.5 pages;

Subhash copied pages in one hour =50/10

= 5 pages

Hence, Prakash copied pages in one hour =7.5-5=2.5

Thus,

Prakash can copied 30 pages in =30/2.5= 12 hour

22. An engineer undertakes a project to build a road 15 km long in 300 days and
employs 45 men for the purpose. After 100 days, he finds 2.5 km of the road has been
completed. Find the (approx.) number of extra men he must employ to finish the work
in time.

TS goifaR 300 fe=i # 15 fF i il Tep TR FIWNaE ddi g SR ST ST S
forT 45 & ot fRrfoTd Hear 81 100 feT & &g, 3/ uan =ren fob 2.5 frit as@ T
T gD ¢ | THT W HTH R HI & fore 39 fova= sifafvam smeferi &1 fFAga
HIAT SITT (CRTHAT) H=AT [T B

A. 43

B. 45

C.55

D. 68

Answer: Option D

Solution : Variation Method:

In 100 days only 2.5 km road i.e. 16.66 % of work has been completed

Men Days Road (km)

45  100] 25

xt 200 12.57

Arrows show the directions of variation of quantity with respect to each other
x/45=100%12.5/200%2.5

X =113 men;

Required men to be increased,

=113-45

=68

23. There is provision of food in fort for 1200 soldiers for 60 days. After 15 days, 200
soldiers leave the fort. Remaining food will last for how many days?

fpa A 1200 AP & forw 60 fa-Y T WIS &1 FgawRIT Bl 71 15 fa=1 & 918 200
Afre frar Sis 34 & | I91 g |1 foraq fa= a =
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A. 56 days

B. 50 days

C. 54 days

D. 48 days

Answer: Option C

Solution:Work equivalence method:

1200 x 45 = 1000 x x

Hence, x = 54 days

Variation Method:

After 15 days 200 soldiers leaved.

Soldiers Food for days

1200 | 45

1000 1 x (let)

Arrows show the opposite variation to each other

1200/1000=x/45

Or, x =1200x45/1000

= 54 days.

24. A and B working together completed a job in 5 days. If A works twice as efficiently
as he actually did and B worksA and B working together completed a job in 5 days. If A
works twice as efficiently as he actually did and B works

1/3 of actual efficiency, the work would have completed in 3 days. Find the for A to
complete the job alone.

A 3R B A firaes te &1 5 fei A 131 fharn| afe A aaa 3 S99 SR $xraar 9
BTH BT § 3R B BTH BT 8 df A 3R B TH HIY ST $H3d gU 5 fol § v o1
RIHRA & | Tl A Tdd H IHA GRIFT PRI A HTH BT § 3R B HTH Hdl &
AP G&IdT BT 1/3, PTA 3 a1 H YRT 81 ST | A GRT 3P A HTA [T HA & e
TS B Gl |

A.6,1/2

B.6,1/4

C.6,3/4

D.12,1/2

Answer: Option B

Solution:One Day's work of A and B together,

1/A+1/B=1/5 (i)

When A works with twice efficiency, Then,

2/A+13/B=1/3 (i)

on solving equations (i) and (ii), we get

A=25/4=6,1/4

25. Two pipes A and B can fill a cistern in 12 min and 16 min respectively. Both the
pipes are opened together for a certain time but due to some obstruction the flow of
water was restricted to 7/8 of full flow in pipe A and

Study-Knight Coaching Centre Sunder-Nagar Himachal Pradesh 7807922400 / 98170-34333
Search Us on YouTube Study Knight or Visit Our Website: - http://www.StudyKnight.in
Study Knight YouTube 40k Family




Study-Knight Research Centre Himachal Pradesh

5/6 of full in pipe B. This obstruction is removed after some time and tank is now filled
in 3 min from that moment. How long was it before the full flow.

Sl TSy A 3R B U ¢l &1 pHTT: 12 fiFe 3R 16 fide # YR I&d &1 <141 ursul
&1 T [f3a 99 & e v a1y Giar 91T @ afed $© IH1dae & HRUTUH 61
W4T T3y € A quf are & 7/8 9@ W 4T SRUTSY ot H15/6 YN WR T8 | O
TUY 91¢ I $HIae gX &1 ol § 3R <t 3F 3 firie # wR ol 81 ui yarg &
ugd fora=T 9Hy T,

A. 8 min

B. 3 min

C. 5.6 min

D. 4.5 min

Answer: Option D

Solution:Let the obstruction remain for x min.

Hence,

Part of cistern filled in X min + part of cistern filled in 3 min = full cistern
[7x/8%12+5x/6x16]+[3/12+3/16] = 1

12x96+716=1

Thus,

X =4.5 min.

26. Three pipes A,B and C attached to a cistern. A can fill it in 10 min, B in 15 min, C is
a waste pipe for emptying it. After opening both the pipes A and B, a man leaves the
cistern and returns when the cistern should have been just full. Finding, however, that
the waste pipe had left open, he closes it and the cistern now gets filled in 2 min. In how
much time the pipe C, if opened alone, empty the full cistern?

T USUAB MR CTHEHI T IS GURI ATH 10 e A R gwar 8, B3 15
e A W awar g, csﬁa@mﬁ%ﬁqwéwm%l I UTS U U 3R &
G & 918, TP 3TSH! 1 A 918 fApd SiTdT 8 3% a1u die 3iTdT § Siafe dabt
T TRE W= ST Tifeu ot | gTeiies, I 3 T Tl f Srafiy ursy Qe ¥8 T §,
I IYA I d¢ B U1 3R bl 3| 2 fiFe § WR 1S | Tfe ursu C &) srdhal Wit
WY dt fra 99a O g3 Sl et g1 et

A. 12 min

B. 16 min

C. 18 min

D. 15 min

Answer: Option C

Solution:Let pipe C alone can empty the cistern in x min.

A fills cistern in 1 min =1/10

B fills cistern in 1 min =1/15

A and B together fill in 1 min

=10x15/10+15=150/25=6min
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Since, waste pipe was left open for 6 min then,

6 min, 6/x part of cistern will be emptied by C

Now,

6/x part of the cistern would be filled by A and B in 2 min.

Hence,

cistern will be filled in

3/x min. And x/3

=6

X =18 min.

27. There is a group of 5 boys and 2 girls. The two groups working together can do four
times as much work as a boy and a girl. Ratio of working capacities of a boy and a girl

Answer: Option A

Solution:Let 1 boy's 1 day's work = x

And 1 girl's 1 day's work =y

Now,

(5 boys + 2 girls)'s work = 5x + 2y

Given,

5x + 2y is equal to 4 times work done by a boy and a girl

Thus,

5x + 2y =4(x +Y)

5X + 2y =4x + 4y

X =2y

xly=2/1

Hence, the required ratio is 2 : 1

28.A group of 12 men can do a piece of work in 14 days and other group of 12 women
can do the same work in 21 days. They begin together but 3 days before the completion
of work, man's group leaves off. The total number of days to complete the work is:

12 T3YI BT TP GYE TH B B 14 {31 & &2 TovdT g 3R 12 Afgansii &1 v o=
g I 1 &) 21 feAT § % 1 81 3 TP TTY IRE Hd & Afb BTH RITH
gsﬁ?ﬂ?ﬁ mmwﬁwmélwr&waﬂﬁ%ﬁrqﬁﬁﬁﬁm

A.654
B.933
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C.515

D. 60

Answer: Option C

Solution: Let x be the required number of days

Given,

12 men and 12 women can complete a work separately in 14 days and 21 days respectively
Then,

12 men's 1 day work =1/14

And,

12 women's 1 day work =1/21

Then,

12 women's 3 days work =3/21

=1/7

The remaining work =1-1/7

=6/7

Man's group leaves 3 days before the completion of work

That is, they were working together for x - 3. days

Thus, we have

/7

work left to be done in last 3 days by the women's group. This also means
6/7th of work has been done by both the groups (before men left)

Now, (12 men + 12 women)'s 1 day work =

1/14+1/21

=5/42

I.e.,

5/42 work is done by 2 groups in 1 day.

S0,6/7 of work is done by 2 groups together in

42/5%6/7

=36/5 days

Total time take to complete the work will be

=36/5+ 3

=51/5

29.Vimal can do a piece of work in 20 days, Vimal and Kamal together can do in 12
days. If Kamal does the work only for half a day daily then in how many days the work
will be completed ?

fawe v S1H @1 20 feAY A B IPpar 8, fane 3R wHa fias? 12 e & & J@d
21 afe wua ufafes Faa enur fea &t & 9t wrd fovaq e & T gme?

A.15

B.30

C.25

D.10
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Answer: Option D

Solution: Vimal's 1 day work =1/20

Since, Vimal and Kamal can together complete in 12 days

I.e. (Vimal + Kamal)'s 1 day work =1/12

Then,

Kamal's 1 day work,

=1/12-1/20=2/60=1/30

If Kamal Works only for half a day daily, then his 1 day work becomes

1/2x1/30

=1/60

Therefore, 1 day work of both Vimal and Kamal,

=1/20+1/60

=4/60

=1/15

Hence, the work will be completed in 15 days.

30. There are three boats A, B and C, working together they carry 60 people in each
trip. One day an early morning A carried 50 people in few trips alone. When it stopped
carrying the passengers B and C started carrying the people together. It took a total of
10 trips to carry 300 people by A, B and C. It is known that each day on an average 300
people cross the river using only one of the 3 boats A, B and C. How many trips it would
take to A to carry 150 passengers alone?

dFT 914 A, B 3R C &, TP ATY BTH HYd §U 9 TS 91T | 60 AR B & STl 31
TS 1 gag-Jag A b d $© TS H 50 ART I & 147 | 5 9 A Bl A
ST ¢ DX faT dY B 3R C 7 TS ATy @l 1 & 41 LR P 4TI A, B3R C
ST 300 AT @1 & oI § e 10 ATATE oY | I8 71 3 fb wdes o= sivaa 300
AT 3 A1 A, B 3R C H ¥ el T DI SUUNT B3P 741 UR d 3 | T8 fpa
YTATE I 150 TG 1 3P d A SH & fore A TR SI1@?

A. 15

B. 30

C.25

D. 10

Answer: Option A

Solution: Combined efficiency of all the three boats = 60 passengers /trip

Now, consider option (A)

15 trips and 150 passengers means efficiency of A = 10 passengers per trip

A's efficiency = 10 passengers per trip

Then, (B + C) combined efficiency = 50 passengers per trip

Since, combined efficiency is 60 so option (A) is correct
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